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The number of calories in a 1 ounce serving of roasted almonds has
/ a o=2. In a SRS of 3 packages, the sample mean was 171 calories.

(a) Find & nfldence intervalto predlct .
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(b) Find the margin of error for part(a) and then give a sample size needed
to get the margin of error to be less than 1 calorie.
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If E: u=52and H:u< 52]then is there evidence against the null at the 1%
level? .
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3. The customer balance at a major credit card company follows a normal /9
{ + + distribution with a population mean of $576 and a population standard
deviation of $120. In a SRS of 36 customers, the mean balance was $615.
Because of lower interest rates, the company manager believes the balance
forthe customers is increasing.

(a) Carry outa signifrcance testanduse a 5|gn'|f|can E?Z 5°/ .
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(b) Wha type of error could have been made in part{a)? What is the
) / probablllty of that error‘7 W /ZZ
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4. The waiting time for a popular roller coaster ride at an amusement park follows,
in minutes, the distributioh N{(50, 19)/ Suppose you visit the ride 5 times and
the average wait was 64 minutes. You believe the mean waiting time for the ride

isincreasing. P . % be
(a) To fi tatlstlcal evidence, what assum) .
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(b) Determine there is evidence the mean aiting time § ISID_(HQESJHQ a4 mwm/ .
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(c) Find the power of the test. W }/leQ@Wu
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(d) Find the probability of a Type | and a Type |l error. Which error may— ) .S0Jo ,
have occured in part(b)?
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5. On a world history lesson qunz the mean score of 50 students was 19.25, On
similar quizzes, the scores have been normally distibuted with a mean of 20 and
a standard deviation of 1.4. The hlstory teacher believes that the population
mean of this quiz ig-no Tonger 20.

(a) Using a 1% significance level, determine evidence using two different
methods. T =
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